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. Grandma Jones wants to share £246 equally between her 4

grandchildren. How much money will each grandchild receive?

. £525 is raised at a local charity fundraising event and is split equally

between 4 local charities. How much money will each charity get?

. A restaurant makes £98 in tips. There were 5 waitresses working that evening.

How much will each waitress be given if the owner shares the tips equally?

. Calculate the following and then write your own word problem for it.

£54.00 + 8 =




image2.png
. Grandma Jones wants to share £826 equally between her 4

grandchildren. How much money will each grandchild receive?

. £855 is raised at a local charity fundraising event and is split equally

between 4 local charities. How much money will each charity get?

. A restaurant makes £178 in tips. There were 5 waitresses working that evening.

How much will each waitress be given if the owner shares the tips equally?

. Calculate the following and then write your own word problem for it.

£466.00 + 4 =




image3.png
. Grandma Jones wants to share £6075 equally between her 12 grandchildren.

How much money will each grandchild receive?

. £8855 is raised at a local charity fundraising event and is split equally

between 20 local charities. How much money will each charity get?

. A restaurant makes £162.80 in tips. There were 5 waitresses working that evening.

How much will each waitress be given if the owner shares the tips equally?

. Calculate the following and then write your own word problem for it:

£3913 + 14 =
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Sam says that if he shared £564 between him and his 7 friends, they would each
get £80.57 each.

Is he right? Yes/No

Explain your answer.




